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1 u —u : 1 U —u
cosh(u)zi(e +e ") smh(u):i(e —e ")
cosh (0) =1 sinh (0) =0
cosh (—u) = cosh (u) sinh (—u) = — sinh (u)
£ feosh (1)] = sinh (1) £ [sinh (1)] = cosh (1)
= lcos = 5In - lsin = cos
cosh (1) ~ 1 + u? sinh (u) ~ u
| ! drr
cosh (1) ~ ok sinh (u) = 5e

cosh (1)]° = [sinh (u)]* = 1

sinh (u — v) = [sinh (u)] [cosh (v)] — [cosh (u)] [sinh (V)]

Note the similarity with sine and cosine
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AT cosh ( 5
An, (x) = An;y; | cosh ( : > —

Yikes!
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Using the difference trig identity.

] X,—x
Smh( an )

; X, —W
sinh (%)

Anp (X) = Anin]-

If L, >> X, — W, (also means that L, >> X, —x)

Xy — X
An, (x) = Anjy X, — W,

If L, << X, - W, (also << X, — x)
exp (ng)

B A

Any, (x) = Anjy

general solution

short diode

long diode
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annpO COSh ( = )

Ly sinh (XPL_WP )
[ (555)
Ly sinh (X”L_HWP)
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